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BACHELOR OF SCIENCE (B. Sc.) 

Term-End Examination 

December, 2023 

Life Science 

LSE–10 : ANIMAL DIVERSITY–II 

Time : 3 Hours     Maximum Marks : 75 

Note : Question No. 1 is compulsory. Attempt any 

six questions from Question Nos. 2 to 8. 

Draw well-labelleld diagrams wherever  

necessary. 

 

1. (a) Define any four of the following : 1×4=4 

(i) Notochord 

(ii) Operculum 

(iii) Amnion 

(iv) Polygamy 

(v) Sternum  

(b) Differentiate between any three of the 

following : 2×3=6 

(i) Heterocercal and Homocercal tails 
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(ii) Ruminant and non-ruminant 

herbivores   

(iii) Axial skeleton and appendicular 

skeleton  

(iv) Acoustic signal and Tactile signal  

(c) Match the class given in Column I with the 

names of animals given in Column II :  

1×5=5   

 Column I  Column II 

(A) Agnatha (i) Chimaera 

(B) Elasmobranchii (ii) Latimeria 

(C) Holocephali (iii) Polypterus 

(D) Sarcopterygii (iv) Shark 

(E) Actinopterygii (v) Lamprey 

2. Describe the salient features and classification 

of amphibians with their examples. 5+5 

3. Trace the evolutionary history of mammals 

stating their affinities. 5+5  

4. Explain the adaptations evolved by reptiles in 

order to lead a completely terrestrial existence. 

10  

5. Differentiate between late ectotherm and 

endotherm hearts. Describe the endotherm 

heart with suitable diagrams. 3+7 
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6. (a) Describe the morphological characteristics 

of a bird. 5 

(b) With the help of a well-labelled diagram, 

explain the structure of a bird’s feather.  5 

7. Describe the defence adaptations in 

vertebrates.  10 

8. Write short notes on any two of the following :  

2×5=10 

(a) Functions of urinary system 

(b) Structure of human eye (No description) 

(c) Imprinting 

(d) Echolocation in aquatic mammals 
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1×4=4 

(i) 

(ii) 

(iii) 

(iv) 

(v) 
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2×3=6

(i) 

(ii) 

(iii) 

(iv) 

I II

1×5=5

 I II

(A) (i) 

(B) (ii) 

(C) (iii) 

(D) (iv) 

(E) (v) 

5+5
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5+5

3+7

(a) 

5 

(b) 

2×5=10

(a) 

(b) 

(c) 

(d) 
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